2022 4E55 20 J& NOC Python ik
/N EH

11

&1

LRI R, NE T > EMRE?
A. elif

B. if

C. else

in
%:D

iy 2

%28

KT Python FIBdERA, FAEIH IR RIZ?
A. 10.0 & —MFHE

B. F/H ] LIMRAAEAREY, thHnf DLy phfire

C. int('1.0")iR[EIH4:H28E

D. fi/REHMMENRA True 1 False

%x: C

il

3

CHIFR/H s = "hello python' (yEEFEA —ANSHE), BERIILHR
'python', EITHARESLILMIE?

A. s[6:]

B. s[6: 11]

C. s[-6: 12]

D. s[-6:]

%%: B

A A5 RN True #7222
A. 2>0 and 3<0 or 3<0
B. 2>0 or 3<@ and 3<@

C. not ('1'" ==1) and 1 != 1.0 or '2' == '2.0"'

D. ('test' == 'Test') or 1 !'= 1.0 and 2 == 2.0
%= B

%5 @l

TS HAT e, M aE R
nums = [3, 1, 2, 4, 0]
nums.insert(1, 0)



nums. pop ()
nums.append(1)
nums. remove(2)

print(nums)

A. [0, 3, 1, 4, 1]
B. [0, 1, 2, 4, 1]
C. [3, 0, 1, 4, 1]
D. [3, 0, 2, 4, 1]
SE e

%6 M

DL 1T RE IE AR BE L — ™ 6~8 T [l A BE £ 1 A2 ?
A. random.randint(6, 9)
B. randint.random(6, 9)
C. random.randint(6, 8)
D. random.choice(6, 8)

ERPATE UL IS e, i AL L R B N b ?
import turtle as t
.speed(0)
.color("red")
.pensize(3)
.shape('circle")
.forward(100)
.forward(-10)
.forward(20)
.backward(20)
.backward(-10)

. left(90)

.home ()
.right(90)

. 120

110

. 100

. 90

%: B

HP;Uﬁw:DH'H-HH-H'H'H-HHH'H'H-

% 8

T PAT B A S S, M aE RN

tot = 0

for n in range(3, 66 + 1):
if n% 2 == 0:



continue
if n % 10 == 9:
break
tot += n
print(tot)
A. 18

R HAT LIS, fiHa R N
def is_lucky(num):
if num % 6 == 0:
return True
while num > 0:
if num % 10 == 6 or num % 10 == 8:
return True
num /= 10
return False

ls = [13, 666, 888, 32, 332, 987, 555, 345, 876]

cnt =0
for n in ls:
if is_lucky(n):
cnt += 1
print(cnt)
A. 3
B. 4
C. 5
D. 6
ZE: A
%10 [
TH AT B L S S, M aE R
s = [1, 2, 3, 4, 5, 1]
n = len(1ls)
for i in range(n):
for j in range(i + 1, n):
if Us[j] > 1s[il:
tmp = ls[i]
Is[i] = ls[j]



1s[j] = tmp
print(1ls)
A. [1, 2, 3, 4, 5, 1]
B. [1, 1, 2, 3, 4, 5]
c. [5, 4, 3, 2, 1, 1]
D. WfE, Jhith

Z%: C

=Rl

1. 4 EdRKR A
1s = [-1, -3, -345, -22, -2, -999]
# WEBCORE T maxn YIME
maxn =
for n in :
# U R A4 maxn We ?
if :

maxn = n
# HRKE

print(maxn)

SERG:
1s = [-1, -3, -345, -22, -2, -999]
maxn = 1s[0]
for n in 1s:
if n > maxn:
maxn = n
print(maxn)

2. FIRME

AMAFIR A M B, EHFIER C ORI IR PIE R TR

#a: A = [1, 'a', 4, 90] B = ['a', 9,

[1
A
B
C

'a'l

[1, 'a', 4, 90]

[Ialr 91 Ijlr 1]

[]

i in range(@, len(A)):

for j in range( ):
if A[i] == ___

n 1 -~

—h
o
-

print(C)

1], WcC =



SHS:

A=1[1, 'a', 4, 90]
B = [Ial’ 9' |j|, 1]
C =1l

for i in range(len(A)):
for j in range(len(B)):
if A[i] == BI[j]:
C.append(B[j])
print(C)

3. HHXFAWHEL A

AT REA B O BEPRESILNERR B2, i a
MR 1, z IR 26, — R A ITE FRIAR 2 . AT
FIEHE AR SR 6 19, w6 A Eis, 1M 9 W —MEARH
7, BRNARER~E — DR RS B2 6 M, o 9 %, W
PR AH R XTI H . MESIR— D4, IERRAIBHX AN 555
BRAZF NS, WERER, HHmH'Yes', &M, E¥d 'No'.
EIPN T
—AT, TR, ROREHW LA, B NS TR
[ hag =]
—AT, FRHIBER, WRMANEC A ST HBEIH, Wi 'Yes', &
My, %t 'No'.
L AFER] 1]
mick
L Fee) 1]
Yes
LI AFER] 2]
allen
L FeEe) 2
No

SHARY:
name = input()
s = '@abcdefghijklmnopgrstuvwxyz'
tot = 0
for ¢ in name:
tot += s.find(c)

if tot $ 6 == 0 and tot % 9 == 0:
print('Yes")
else:



print('No")

4. HELT

PRGN N URAR 2 AT — OR AR, FTER IR 5 e —2H, 1K A AT A 5%
SR IEATHE M BT, AN TEA R R TN, T2 B R B P FH— A
PET Bk YE, S R TR AT

WEXEHRI Sy - ey B RIRAT 5 23 A 98— MR 7, BRI RO 1 206, 1 4
WECFIE, R EoR oy 2 503, BTRAERME, frH 1 wing 2 2 ACPRELTRS, A
RECRA 11 8¢ 12, FUamsRfE, #id 2 wing 58 3 RPRER RS, AECRN 2
803, FTEASRME, Hth 1 wing 28 4 R308RI, A S0 11 80012, [sE
SRHE, #rH 2 win. ..

LIRS HE, BERE NERIEREE R 58 1A RN, gkat:
TRl W FET, AR T NERCT R A

L Fe 1]

round 1: 9

round 2: 11

2 win

L Fef) 2

round 1: 7

round 2: 4

round 3: 3

1 win

(EER LA, ZRREES, BHETHEAE)
SEMHG:

import random

cnt =0

while True:
cnt += 1
ming = random.randint(1, 6)
giang = random.randint(1, 6)

print('round ', cnt, ': ', ming + qiang, sep='")
if cnt % 2 == 1 and ming + qiang in [2, 3]:
print('1l win')
break

elif cnt % 2 == @ and ming + giang in [11, 12]:
print('2 win')
break

5. /NY g
NY RER SR BRI, ROV ARG, BURRRF A3 . IEE
—EE R A FHIIR T, DY BOLZERY 7. HBERESERK



79 8000 K — P E T n ANRFa A, WS A 1Ivn, AR
IR A— A, BEAF s BARA B ANER 2 3 th = 78 5 8 EL SRR 4R wE
AN AEHE: S3E T LUEFRMNIEENMAES — Sk, REEW £, &
AR5 PN R RE 2 5y, REFIAR SR8 2102 0 s il 4y, AN
NENIEF—FR 5 g ae R 2184y, BEARM. 23/ Y 5 A1 R Z KK
W, SFXIFk, H IR N 3.5 K& . iEF RN Y DUXANEE &£ A
EZ2/000? mEZREM S MEDREER 22 /DI ?

(GRS |

2n + 117,

BT, BN, BRI SANELG

FERR 0 AT, AT AL B0 SRR, XMEE AN T 1 SRS
PIFEES . PEEIRIEA S dm 5 N 1 2] n B THION, H/DEIR, fRE—EEE
R R, ok se—

FEETRM n A7, BT ML BRGNS S0, RIS R
SWF AT, RIER S SFARIE 1000000000.

L HiAg U]

PIAT s

F—ATHNDNY BB RN R Z A0
BATNY ReE R 2 R0 S/ bR R

(GIPNETD |

5

0

123

555

6111

7521

23

54

21

76

32

@infasy 7D |

130

109

SERKG:
n = int(input())
dis = []
for i in range(n):
d = int(input())
dis.append(d)
scores = []
for i in range(n):
s = int(input())



scores.append(s)

maxn = -1
minn = 1e9
# MEFREURNESR, ER—TEeiMinaz—

for i in range(@, n):
y_dis =5 x 60 x 3.5
tot = scores[il
cur = (i + 1) % n
while y_dis >= (dis[cur] + 8000 - dis[cur - 1]) %

8000:
y_dis —-= (dis[cur]l + 8000 - dis[cur - 1]) %
8000
tot += scores(cur]
cur = (cur + 1) % n
maxn = max(maxn, tot)
minn = min(minn, tot)
print(maxn)

print(maxn - minn)

6. [FIZK %

N Z FPTEMATE AR B E R, WEHIE, AFEEB—KITRE,
B on A7 m SRR AR, T/ Z B IEvS R A B A IR T, REE Rl )
A TR T, AR R BEEA B T E— M%7, R AREE Rk .
HIF/h Z GBSt rieAmeE. e Z T B
B, ik TR TR, WREEAR T ANRERE . DRI IR D Z SRR IR B K
— Il 2D RERIE~

[mAE=]

H£n+117,

2 11378 2 NEEE n. m, BRI | R&RATERNZIEL ;

2 ~ n+l [THME , BT n-1 MNETHERITRIERESE 0 5 1, 0 X8

E 1 FEERE.

[ HiA% 2]

—'?ff _‘/[\%ﬁi i%%lj\ Z E%Efﬁﬁ%ﬁ%@z%ﬁo
(EIPNELD |

34

1011



SENHY:
n, m= [int(i) for i in input().split(' ')]
s = [[0] x (m + 1)]
for i in range(n):
ls.append([0] + [int(i) for i in input().split(' ')1)

for i in range(1, n + 1):
for j in range(1, m + 1):
if 1s[il[j] == 0 or i == 1 and j ==
continue
Ls[il[j] = lsli - 11[j]1 + ls[ill[j - 1]

print(ls[n] [m])



